ol

B
BH

B
W

@ RAE

‘ 217+ O 7"'330' .?-/l‘ 9/\7[- I—l/" I I—
= 2 1 o =}




919} obefel) Qi wo] A2 B
Solet g,

AA=HE &7

]




il
lo
e
2
ol
flo
T
h)
fo =
g,
[
)
=
1A
T
o
k)

ulu] o oh4y o
Vg AL Bge RoglA n2A

SREEETE
30 40 50 60 70 80 90 100(%)

0 10 20

Lol v b bw by by b b b by

0):: AF B3 |ABH

ONR-| ® AY ® BY
@)AB ¥ ® L&

o
N

AB o] A9 15% 5 AASFER 71 Ao},




25 7 2 5 9
o = @ 15 (@1g @2 ©3
2";5 1
7 1 5 .2
9= x3+h =22 =21z
9x gxzx? 5 >




& % Uro] WolA)A] gk UFeAlS B 1242,

® 0.84+3 @ 53.29 + 18 ® 0.28+8

@ 38.46+5 ®)16+6

~&B
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(3121 9] Elo])= 20 x 15 = 300( cm?)

(A5A A= Hol)
=(5%x3+5x4+3%x4)x2=94(cm?)

(2 5379 go))
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